
CURRENT TOOLS • P. O. BOX 17026 GREENVILLE, SC  29606
800.230.5421 or 864.721.4230 • FAX 864.721.4232

www.currenttools.com

12/2020 

Model 519 Light Fixture Cart

Operating, Safety and Parts Manual

Read and understand this material before operating or servicing 
the Light Fixture Cart. Failure to understand how to safely operate 
and service this unit may result in serious injury or death.

This manual is free of charge. All personnel who operate the Light Fixture Cart should have a copy of this manual 
and read and understand its contents. To request a copy of this manual or replacement safety decals, or for 
technical assistance, call or write to the address below. All information, specifications and product designs may 
change due to design improvements or updates and are subject to change without notice. Current Tools does 
not assume any liability for damages resulting from misuse or incorrect application of its products.

shown with optional 519CK  
conversion kit for 2'× 2' fixtures



2

Safety Alert
Symbol

THIS SAFETY SYMBOL is used to call your attention to instructions 
that concern your personal safety. It means: ATTENTION!  BE AWARE!  
THIS IS AN IMPORTANT SAFETY INSTRUCTION!

Read, understand and follow these safety instructions. Failure to 
follow these safety instructions may result in injury or death.

DANGER

WARNING

CAUTION

Immediate hazards which, if not avoided, WILL result in 
serious personal injury or death.

Hazards or unsafe practices which, if not avoided, COULD 
result in serious personal injury or death.

Hazards or unsafe practices which, if not avoided, COULD 
result in minor personal injury or property damage.

TABLE OF CONTENTS

 

SAFETY ALERTS

Safety Alerts....................................................................................................2
Important Safety Information.......................................................................3
Specifications.................................................................................................3
Assembly Instructions and Parts List — 519.............................................4
Assembly Instructions and Parts List — 519CK........................................5



RETAIN SAFETY INFORMATION

3

This manual should be read and understood by all personnel who service or 
operate this Light Fixture Cart. Failure to understand how to safely service 
and operate this unit could result in injury or death. This unit should only be 
serviced or  operated by qualified personnel.

Ensure all caster hardware is installed and tightened prior  
to use.

Ensure all frame assembly hardware is installed and tightened 
prior to use.

DO NOT climb on the Light Fixture Cart.

Secure all light fixtures prior to transport.

ONLY roll on a firm, flat, smooth surface.

BE AWARE of pinch points when assemblying or loading the 
light fixture cart.

LOAD fixtures starting at the bottom level and work upwards. 
UNLOAD fixtures starting at the top level and work 
downwards.

Ensure the light fixture cart is properly secured prior to 
transport

IMPORTANT SAFETY INFORMATIONIMPORTANT SAFETY INFORMATION

WARNING

DANGER

WARNING

WARNING

WARNING

WARNING

WARNING

WARNING

WARNING

WARNING

WARNING

WARNING

WARNING

WARNING

WARNING

WARNING

DANGER

WARNING

WARNING

WARNING

WARNING

WARNING

WARNING

WARNING

WARNING

WARNING

WARNING

WARNING

WARNING

WARNING

CAUTION

CAUTION

SPECIFICATIONS

Model No. 519
Overall Dimensions 55" × 25" × 79"

Total Weight Capacity 750 lbs.
Weight Capacity  

per 2'×4' shelf
75 lbs.

Weight Capacity  
per 2'X2' shelf

37.5 lbs.

Capacity: 2'×4' Fixtures
                 2'×2' Fixtures

10
20 (with optional 519CK conversion kit)

Weight (w/o conversion kit) 164 lbs.
Weight (with conversion kit) 188 lbs.

WARNING

DANGER

WARNING

WARNING

WARNING

WARNING

WARNING

WARNING

WARNING

WARNING

WARNING

WARNING

WARNING

WARNING

WARNING

CAUTION

CAUTION

CAUTION



4

ASSEMBLY INSTRUCTIONS — 519

ITEM PART # DESCRIPTION QTY.
1 2-1501-4 NUT – HEX, NYL. INS. 3/8–16 8
2 452-27 WASHER – LOCK, 3/8" 16
3 452-28 NUT – HEX, 3/8" 16
4 506-3 WASHER – FLAT, 3/8" 32
5 513-001 CASTER – SWIVEL 2
6 513-002 CASTER – FIXED 2
7 519-001 SCREW – HX HD, 3/8–16 × 2 1/4" 8
8 519-105 FRAME – LEFT SIDE 1
9 519-106 FRAME – RIGHT SIDE 1

10 519-109 CROSSBAR 4
11 524-11 SCREW – HX HD, 3/8–16 × 1" 16

PARTS LIST

WARNING
Ensure all hardware is installed  

and tightened prior to use



ITEM PART # DESCRIPTION QTY.
1 77HRB-004 SCREW –HX HD CAP, 3/8–16 × 3" 4
2 452-27 WASHER – LOCK, 3/8" 4
3 519-111 ADAPTER – FRONT 1
4 519-112 ADAPTER – BACK 1
5 9518SR-13 NUT – WING, 3/8-16 4

PARTS LIST — 519CK

519CK Conversion Kit can be stored on 
either end of the 519 cart as shown above. 
Use the same hardware supplied with the 
519CK to store the adapter pieces. 

The 519CK Conversion Kit is used 
to convert a standard 519 light 
fixture cart so that it will store and 
transport 2'×2' light fixtures. 

WARNING
Ensure all hardware is installed  

and tightened prior to use

5

ASSEMBLY INSTRUCTIONS — 519CK


